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1. [Multiple Choice] Choose the one alternative that best completes the statement or answers the
question. (30%) [EAEF} * FRERETHEFEARREE]

(1) All others being equal, if some unemployed workers give up searching for jobs, then
(A) the unemployment rate increases but the labor participation rate decreases.

(B) the unemployment rate decreases but the labor participation rate increases.
(C) both the unemployment rate and labor participation rate decrease.
(D) both the unemployment rate and labor participation rate increase.
(2) According to the IS-LM model, if a country is under a liquidity trap, which of the following statements is
WRONG?
(A) Conventional monetary Policies have no effects.
(B) Government spending has no crowding out effect.
(C) Demand for money is perfectly interest elastic.
(D) The LM curve is a vertical line.
(3) According to Keynes’ liquidity preference theory of interest, if the quantity of money supplied is
greater than the quantity of money demanded in a country, which of the following will occur?
(A) Firms increase their investment.
(B) People increase their consumption.
(C) The government increases its spending.
{D) The price of bonds increases.
(4) According to the I1S-LM model (LM is positively sloped), if investment becomes more responsive to
changes in the interest rate, which of the following is likely to occur?
(A) Fiscal policy becomes more effective at changingoutput.
(B) Monetary policy becomes more effective at changing output.
(C) Fiscal policy becomes more effective at changing interest rates.
(D) Monetary policy becomes more effective at changinginterest rates.
(5) In an economy in which investment negatively depends on the interest rate only, an increase in lump-
sum taxes will cause which of the following according to the I1S-LM model (LM is positively sloped)?
(A) A decrease in consumption and an increase in investment.
(B) An increase in consumption and a decrease in investment.
(C) An increase in both consumption and investment.

(D) A decrease in both consumption and investment.
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(6) Consider two countries: A and B. Both countries are identical except that Country A’s saving rate is
greater than CoLmtry B’s. Moreover, there is no technological progress in both countries. According to
the Solow growth model, which of the following statements is CORRECT in the long run?
(A) The growth rate of total output is greater in Country A than in Country B.
(B) The growth rate of per capita output in both countries are equal.
(C) Investment per worker in both countries are equal.
(D) Capital per worker in both countries are equal.
(7) A country is under the steady state originally. If an earth quake occurs that destroys 50% of capital
stock. Other things being equal, which of the following statements is correct according to the Solow
growth model (without exogenously technological progress)? Compared with the original steady state,
(A) the country’s output per capita increases in the short run, but returns to the level in the original
steady state in the long run.

(B) the country’s output per capita decreases in both the short run and the long run.

(C) the country’s growth rate of output per.capita increases in the short run, but returns to the one in
the original steady state in the long run.

(D) the country’s growth rate of output per capita decreases in both the short run and the long run.

(8) Which of the following statements is correct?

(A) A country’s GDP cannot be greater than its GNI.

(B) A country’s exports cannot be greater than its GDP.

{C) If the law of one price holds, the real exchange rate must be equal to 1.
(D) None of the above is correct.

(9) If a country has a current account surplus, then this country must be

(A) running a balanced trade account.

(B) lending to the rest of the world.

(C) borrowing from the rest of the world.

(D) suffering from negative investment income.

(10) If the Marshall-Lerner condition does NOT hold, a depreciation in the real exchange rate will tend to

cause which of the following to occur?
(A) An increase in NX and an increase in V.
(B) An increase in NX and a reductionin V.
(C) Areduction in NX and an increase in Y.
(D} A reduction in NX and a reduction in Y.
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2. [The IS-LM model in a closed economy] Consider an economy with the following equation:
C=ay+a,(Y—-T),apa, >0,

where C, Y,and T are consumption, output, and Taxes. Moreover, the investment is given as
I'= By + B1Y — B2i, Bo, Br. B2 > 0

where C, Y, T, I, and i are consumption, output, taxes, investment, and the interest rate. The

government spendingis G.

Answer the following questions: (25%)

(1) Specify and explain the condition under which the equilibrium of the goods market exists. Then, solve
for equilibrium output under this condition. What is the value of the multiplier for the balanced
government budget? Is it greater than or less than 1? Explain your result.

(2) Now, suppose that the equilibrium equation for the money market is

my = y1Y = y2l.
where my is the real money balance. Solve for equilibrium output in which both goods and money
markets clear. What is the value of the multiplier for the balanced government budget? Explain the
difference of your result with the one you find in (1).

3, [Expectation-augmented Phillips Curve] Consider an economy with the following Phillips curve:

w, = 1y + 0.8(U, — 1),
where 1, is the actual inflation rate between period ¢ — 1 and ¢t and 7§ is the expected inflation rate
between period t —1 and ¢ thatisformed at period t — 1; u, isthe natural rate of unemployment
which is equal to 5% and u, is the actual rate of unemployment at period t. Moreover, the economy has
the following Okun’s law:

Yt - Yn

Ya

where Y; isthe actual output at period t and ¥, is the natural output (or potential output).

= —(U — Up),

Answer the following questions: (20%)

(1) Taking 7f as given, draw a diagram (in which the vertical axis is 7, and the horizontal axis is u;) to
show the Phillips curve. In particular, indicate the natural unemployment rate and the expected
inflation rate in the diagram.

(2) Suppose that the economy’s actual inflation rate is equal to 6%, much higher than the one announced
by the central bank (=2%). Given this, people change their expectation of the inflation rate to be equal
to mf = 6%. In this case, if the central bank of this economy wants to reduce the inflation rate from 6%
to 2%, what will be the actual unemployment rate?

(3)[Continued from (2)] Calculate the sacrifice ratio.
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(4) [Lucas critique] Robert Lucas argued that the sacrifice ratio may be very small. Draw diagram to explain
his argument using this economy.

4. [Solow growth model] Consider a closed economy with the following production function:
Y, = KF(E L)' ™%, a € (0,1),
where Y;, E;, K; ,and L, are, respectively, output, efficiency of labor, capital stock, and labor. E.L; is
defined as effective labor. The depreciation rate of capital is equal to § and the net growth rate of labor is
n (> 0). The saving rate of the economy is constant over time and is denoted as s. Time is DISCRETE and
capital stock evolves as
K1 = sH +(=16)K,. (A)
Assume that E, grows at a net rate of e (> 0). Answer the following questions: (25%)
(1) Derive an equation showing the evolution of capital stock per effective labor step-by-step from
equation (A) and obtain the steady state value of capital per effective labor for the economy. [Hint: both
e and n aresmallsothat e-n = 0.]
(2) Draw a diagram showing the evolution of capital per effective labor and its steady state.
(3) Use the equation you derive in (1) to show the growth rates of output per labor and output per
effective labor in the steady state.
(4) What is the saving rate that can maximize consumption per effective [abor in the steady state?

(The End)
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